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J AWAHARLAL NEHRU TECHN OLOGICAL UNTVERSITY HYDERABAD
B. Tech IV Year I Semester Examinations, November/December - 2016
ADVANCED FOUNDATION ENGINEERING
(Civil Engineering)

T ime 3 Hours Mazx. Marks: 75

"Part A is comDulsory Wh.lCh gatfies 25 marks, Answcr all questlons in Part A. Pirt B

consists of 5 Units. Answer any one full question from each unit. Fach question carries
10 marks and may have a, b, ¢ as sub questions.

I «. . PART-A S -

3‘,.: ::.. E...: ::.. 5...: ::.. 5.,.‘ ::.,_ (25 Marks)

Wnte short notes on beanng capacxty of foundations subJected to eccentric loads. 2] T
Write briefly about foundations on layered soils. [3]
Write about efficiency of pile groups. (2]
Write briefly about negative skin friction in pile foundations. (3]

Define actiye earth pressure,and.passive earth pressure. e ce, 2]

i Write about as§iimptions in Colilomb’s theofy of arth pressu’f‘é 3] ey
Write about applications of braced cuts. (2]
Write about earth pressure from strut Ioads. é [3]
Define swell pressure and swelling potential. [2]
Discuss about remedial measures to reduce swelling for expansive soils. [3]

................. P‘A“RT;E texs Senx” Eaex waee .::'
(50 Marks)

Determine the width of the square footing if it has to carry a gross allowable load of ¢- <.
750kN The deptb of the footmcy 18 15m n a medlum dense sand Wlth = 320,

:-"theory Take faf:tor of safety of 370, N.=35. 49 Nq—23 18 and’N 30 22 £ [10]
OR
Explain in detail about Janbu method of calculating elastic settlement of foundation in
clays. [10]

i 1A group ofinige piles are afranged in a squdre pattern into &. clay. stratum with: 3Qcm side i
""and 10m 16ng."The unconfined compressive stiength of thé cliy soil is 90kN/in®, Take

a = 0.8. Calculate the spacing for 100% efficiency of the plle group. Neglect bearing of

the piles. . rag[10L 2T
OR T (et wsTD) ey
__Explain about Reese and Matlock Approach for laterally loaded pﬂes with a neat diagram. - - b
........................ . UO] (6(
"'Explam about Stablhty of the cantﬂever retainin, g Wall agalnst shdmg and overturning with
a neat sketch. , - \‘\“?;6\’ : [10]
OR 1 wHIK
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y—l8kN/m Using Rankine’s theory, find the point of application of the resultant actwe
thrust when the top of the backfill carrying a uniformly distributed load of 4kN/m> and
water table is at 3m depth from the surface. Take saturated unit weight as 19.7kN/m’.

[10l

'"Explam about depth of embedment of cantiléver walls n clays with a neat sketch [lO]

OR
Explain about types of anchorage and location of anchorage with a neat sketch.  [10]

_'Explam about granular pile anchor method in expanswe soils, w1th a neat sketch [lO]

................ G)R E ‘".' :
Explam about chermcal stablhzatlon of expans1ve soﬂs [lO]
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